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SOLVING SYSTEMS OF EQUATIONS BY GRAPHING
USING LINEAR REGRESSION

For each set of data, write a system of equations, then solve.

Example 1: Census Populations of Detroit and San Diego 1960 - 2010

1960 1970 1980 1990 2000 2010
Detroit 1,849,568 | 1,670,144 | 1,511,482 | 1,203,339 | 1,270,974 | 951,270
San Diego 334,387 | 573,224 696,769 875,538 | 1,110,549 | 1,223,400
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Example 2: BPA Income 3gnid Expenses for Semester

MONTH INCOME EXPENSES
{ January $150 $2,140
7 February $350 $1,880
% March $550 $1.620
4 April $750 $1,360
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Find the month when the income and expenses will be the same. Tume (since
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What is the dollar amount when they break even? f (OS5, 2w
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Practice 1:

Number of Violent Crimes and Homicides in U. S. Schools

1994 1996 1999 2003 2009
Violent Crimes 13 9 7 6 3
Homicides 42 29 25 4 4
V. <. \ -0.585Mx ril.23
Y E ~7.50lex + 36,68

In what year were the violent crimes the same?

What was that number?
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